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,t;tpdhj;jhis Fwpg;Gfs; nfhLf;fg;gLk; tiu jpwf;ff;$lhJ gpupT mjpfhup $wpagpd; jpwf;fTk;. 

(Open Candidates) / (nghJ tpz;zg;gjhuu;fSf;FupaJ) 

 

 

  

  

TNUSRB – SI 2022 

FULL TEST - 04 

ehs; & Njjp : jpq;fl;fpoik> 20> [{d;> 2022      Time / fhyk; : 2:30 kzp 

Neuk; : fhiy 10.00 kzp Kjy; 12:30 kzp tiu          Total Marks / nkhj;j kjpg;ngz;fs; : 70 

Instructions – mwpTiufs; 

1. This question paper contain 70 questions in part A (General knowledge) and 30 questions in  part B (Psychology) related 
subjects. 
,t;tpdhj;jhspy; gFjp „m‟ nghJ mwptpy; 70 tpdhf;fSk; kw;Wk; gFjp „M‟ cstpay; rk;ke;jkhd ghlq;fspy; 30 
tpdhf;fSk; cs;sd. 

2. The type of question paer (A,B,C or D) should be shaded in the answer sheet using blue or black ball point pen. The 
answers sheet without shading the type of question paper will not be evaluated. 
,e;j tpdhj;jhspd; tifia (A,B,C or D)tpilj;jhspy; mjw;Fz;lhd ,lj;jpy; ePyk;. (m) fUg;G epw ghy; ghapd;l;Ngdhitf; 
nfhz;L vOjp gpd; gl;il jPl;lTk;. tpdhj;jhspd; tifia gl;il jPl;lhtpl;lhy;> me;j tpilj;jhs; kjpg;gplg;glkhl;lhJ. 

3. Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet. 
tpilj;jhspy;> ePyk; (m) fUg;G epw ghy; ghapd;l; Nghditf; nfhz;L gjpT vz;iz mjw;Fupa fl;lj;jpy; vOjp> gpd; gl;il 
jPl;lTk;. 

4. Answer all the 140 questions should be shaded in the relevant circles using blue or black ball point pen. 
Answer all the 140 questions- 140 Nfs;tpfSf;Fk; tpilaspf;f Ntz;Lk;. 

5. Each question carries half a mark. xt;nthU Nfs;tpf;Fk; miu kjpg;ngz; toq;fg;gLk;. 
6. The answers to the question should be shaded in the relevant circles using blue or black ball point pen. 

tpilfis ePyk; (m) fUg;G epw ghy; ghapd;l; Ngdhitf; nfhz;L me;je;j tl;lq;fspy; gl;il jPl;lTk;. 
7. For each question only one answers is to be chosen and shaded. 

xU tpdhtpw;F xU tpilia kl;LNk gl;il jPl;lTk;. 
8. For wrong and improper shading, no marks will be given. 

jtwhf gl;il jPl;bdhNyh> mbj;jy; jpUj;jq;fs; nra;jhNyh me;j Nfs;tpf;F kjpg;ngz;fpilf;fhJ. 
9. Write the Registration No. in the question paper- gjpT vz;iz Nfs;tpj;jhspy; vOjTk;. 
10. Write the SI.No of the OMR answer sheet in the question paper at the appropriate place. 

OMRtpilj;jhspd; vz;iz Nfs;tpj;jhspy; vOjTk;. 
11. If there is any printing error in page No. in the question paper , the same should be brought to the notice of the invigilator 

immediately. 
ckJ tpdhj;jhspy; VNjDk; mr;Rg; gpioNa> gf;fq;fs; rupahf ,y;yhtpl;lhNyh> Nkw;ghh;itahshplk; Kiwapl;L rupahd 
Nfs;tpj;jhisg; ngw;Wf; nfhs;SkhW mwpTWj;jg;gLfpwJ. 

12. All the questions are bilinguial except language questions (English & Tamil) 
ghlg;gFjp (Mq;fpyk; kw;Wk; jkpo;) Nfs;tpfis jtph;j;J midj;J Nfs;tpfSk; ,uz;Lk; nkhopfspYk; nfhLf;fg;gl;Ls;sd. 
 

 

 

 

tpdhj;jhspd; tupir vz;. tpdhj;jhspd; tif gjpT vz; 

OMR tpilj;jhspd; vz; 
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1. rp.R. nry;yg;ghtpd; E}y;fSs; 2001 Mk; Mz;bw;fhd rhfpj;jpa mfhnjkp tpUJ ngw;w E}y; 
A) [Ptdhk;rk;      B) Rje;jpu jhfk;  
C) thbthry;      D) jkpo;r; rpWfijg; gpwf;fpwJ 
 

2. ngUkhs; jpUnkhop> ehyhapuj; jpt;a gpuge;jj;jpy; mike;Js;s jpUnkhop 
A) Ie;jhk; jpUnkhop     B) Mwhk; jpUnkhop  
C) ehd;fhk; jpUnkhop     D) vl;lhk; jpUnkhop 
 

3. Universal Gas constant value R =? 

nghJ thA khwpyp R-d; kjpg;G? 
A) 6.023×1023      B) 81.31 J mol-1 K 

C) 8.31×103 J mol-1 K-1     D) 8.31 J mol-1 K-1 

 

4. If the acceleration due to gravity becomes 4 times its original value, then escape speed? 

A) Remains same     B) 2 times of original value 

C) Becomes halved      D) 4 times of original value  

<h;g;gpd; KLf;fj;jpd; kjpg;G mjd; jw;Nghija kjpg;gpidg; Nghy ehd;F klq;fhf khwpdhy; 
tpLgLk; Ntfk;? 
A) khwhJ   B) 2 klq;fhFk;  C) ghjpahFk;   D) 4 klq;fhFk; 
 

5. Which is called dry ice? 

A) CO2 (Solid)  B) CO (Solid)   C) O3 (Solid)   D) H2O (Solid) 

cyh; gdpf;fl;b vdg;gLtJ? 
A) jpz;k CO2  B) jpz;k CO   C) jpz;k O3   D) jpz;k H2O 
 

6. Which fertilizer is called “Nitrolim” ? 

A) Super phosphate B) Calcium nitrate  C) Calcium cyanamide  D) Sodium nitrate 

iel;Nuhiyk; vd;wiof;fg;gLk; cuk; vJ? 
A) #g;gu; gh];Ngl;     B) fhy;rpak; iel;Nul;  
C) fhy;rpak; radikL     D) Nrhbak; iel;Nul; 
 

7. A new frontier of drug design employing small stretches of complementary DNA and RNA is? 

A) Pencillin  B) Oligounucleotides C) Ampicillin   D) Ciprofloxacin  

DNA kw;Wk; RNA -tpd; rpwpa ePs epyg;gug;Gfis gad;gLk; kUe;J tbtikf;Fk; vy;iy?  

A) ngd;rpypd;      B) MypNfhepa+f;ypNahill;];  
C) Mk;gprpypd;      D) rpg;Nuh/gpshf;N]rpd; 
  

8. Who produced induced mutation was? 

A) Hugo De vries B) T.H. Morgan  C) Mendal   D) H.J. Muller 

J}z;lg;gl;l jpBh; khw;whj;ij Kjypy; Vw;gLj;jpath;? 
A) `pa+Nfh-b-tphp]; B) b.vr;.Nkhh;fd;  C) nkz;ly;   D) vr;.N[.Ky;yh; 
 

PART ‘A’ : General Knowledge 
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9. Match the following 

a) Self Respect Movement   - 1) Rajaji 

b) Kulakalvi Thittam   - 2) Tilak 

c) Home Rule Movement   - 3) Periyar 

d) Father of Indian Unrest   - 4) Annie Besant  

nghUj;Jf: 
a) Rakhpahij ,af;fk;  - 1) uh[h[p 
b) Fyf;fy;tpj; jpl;lk;   - 2) jpyfu; 
c) jd;dhl;rp ,af;fk;   - 3) nghpahh; 
d) ,e;jpa mikjpapd;ikapd; je;ij - 4) md;dp ngrd;l; 
A)  3  1  4  2   B) 3  4  1  2   C)  3  2  1  4   D) 3  4  2  1 

 

10. Arrange the dynasties of Delhi Sultanate in Chronological order  

1) Sayyid Dynasty  2) Khalji Dynasty 3 ) Slave Dynasty  

4) Tughlaq  Dynasty 5) Lodi Dynasty  

nly;yp Ry;jhdpa tk;rq;fis fhythpirg;gLj;Jf. 
1) iraJ tk;rk;  2) fpy;[p tk;rk; 3) mbik tk;rk;   
4) Jf;sf; tk;rk;  5) Nyhb tk;rk; 
A) 3, 2, 5, 4, 1  B) 3, 4, 1, 5, 2   C) 2, 1, 4, 3, 2   D) 3, 2, 4, 1, 5 

 
11. Is the Tajmahal _______ as the Big Temple 

A) older   B) oldest   C) as old   D) one of the oldest 

 

12. Plural form of “alumnus” 

A) alumna  B) alumni    C) alum    D) alumnus 

  

13. _________ is the longest mountain chain in the world  

A) The Rockies  B) The Himalayas  C) The Andes   D) The Alps 

cyfpd; kpf ePz;l kiyj; njhlu; ………. MFk;. 
A) ghiwfs;  B) ,kakiy   C) Mz;b];   D) My;g;]; 
 

14. The tropic of Capricorn faces the sun directly on 

A) September 21  B) December 22  C) June 21   D) March 21 

kfu Nuifapy; #upaf; fjpu;fs; Neubahf tpOk; ehs;? 
A) nrg;lk;gH 21  B) brk;gH 22   C) [Pd; 21   D) khHr; 21 
 

15. The congress session which passed Poorna Swaraj Day Resolution in 1929 was held at   

A) Lahoore  B) Lucknow   C) Chennai   D) Delhi  

1929y; g+u;z Rauh[;[pa ehs; jPh;khdj;ij epiwNtw;wpa fhq;fpu]; khehL ele;j ,lk; 
A) yh$h;   B) yf;Ndh   C) nrd;id   D) nly;yp 
 

16.  Mook Nayak was the Journal of  

A) Annie Besant  B) Rajaji   C) Bhagat singh  D) Ambedkar  

„%f; eha;f‟ vd;w gj;jphpifia elj;jpatu;  
A) md;dpngrd;l;  B) uh[h[p   C) gfj;rpq;   D) mk;Ngj;fh; 
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17. Which „one is the largest cells in white blood corpuscles?  

A) Lymphocytes  B) Bosophils    C) Monoscytes   D) Neutrophils 

fPo;f;fz;ltw;Ws; ,uj;j nts;isaZf;fspy; kpfg; nghpaJ? 
A) ypk;Nghirl;Lfs; B) NgNrh/gpy;  C) NkhNdhirl;Lfs;  D) epA+l;Nuh/gpy; 
 

18.  Who proposed the “Natural selection theory”? 

A) Lamark  B) Linnaeus   C) Hookar   D) Charles Darwin  

,aw;if Nju;T nfhs;ifia ntspg;gl;lth;? 
A) yhkhh;f;  B) ypd;Nd];   C) P̀f;fh;   D) rhh;y]; lhh;tpd; 
 

19. The height of cone if radius 5 cm and slant height is 13 cm ____ 

Muk; 5 nr.kP kw;Wk; rhAauk; 13 nr.kP vdpy; Neu;tl;lf; $k;gpd; cauk; …………. 
A) 12 cm   B) 10 cm   C) 13 cm   D) 15 cm 

 

20. In 𝑥2 − 13𝑥 + 𝑘 = 0 the difference between roots is 17 then value of 𝑘 is _____ 

𝑥2 − 13𝑥 + 𝑘 = 0 vd;w rkd;ghl;bd; %yq;fspy; tpj;jpahrk; 17 vdpy; 𝑘 apd; kjpg;G _____ 
A) 𝑘 = 30   B) 𝑘 = −30   C) 𝑘 = 20   D) 𝑘 = −20 

 

21. Constitution of India was adopted by Constituent assembly on? 

A) Dec.09,1946  B)  Dec.11,1946  C) Nov.26,1949  D) Jan.26,1950 

murpay; epu;zarigahy; murpayikg;G Vw;Wf;nfhs;sg;gl;l Mz;L? 
A) brk;gH 09> 1946 B) brk;gH 11> 1946  C) etk;gH 26> 1949  D) [dtup 26> 1950 
 

22. How many municipal Corporation are there in the State of Tamil Nadu? 

jkpo;ehl;by; vj;jid khehfuhl;rpfs; cs;sd? 
A) 14   B) 20    C) 15    D) 21 

 
23. The oldest oil field in India is in 

A) Haldia   B) Bombay High  C) Neyveli   D) Digboi 
kpf goikahd vz;nza; tay; vJ? 
A) `hy;bah  B) gk;gha; i`  C) nea;Ntyp   D) bf;gha; 
 

24. Which one of the following countries is not a member of ASEAN? 
A) Vietanam  B) Brunei darusallam C) Bangladesh    D) Mynammar 
gpd;tUtdtw;Ws; ve;j ehL   ASEAN-apy; cWgpduhf ,y;iy 
A) tpal;ehk;  B) gpUdp jUryk;  C) tq;fhsNjrk;  D) kpahd;kh; 
 

25. kapiy rPdp. Ntq;flrhkp mtu;fs; vOjpa E}y;fspy; my;yhj xd;W. 
A) rhrdr; nra;As; kQ;rup    B) kiwe;J Nghd jkpo; E}y;fs; 
C) gy;ytu;fhy tuyhW     D) rkzKk; jkpOk; 
 

26. The Epsom salt which is used as laxative is _______ ? 

kyk; ,sf;fpahf gad;gLk; vg;rk; cg;G vJ? 
A) MgSO4. 7H2O  B) ZnSO4. 7H2O  C) FeSO4. 7H2O  D) CuSO4. 5H2O 
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27. Which acid is used in the lead storage battery? 

A) Sulphuric acid   B) Hydrochloric acid  C) Nitric acid   D) Boric acid 

fhh; Ngl;lhpfspy; gad;gLj;;jg;gLk; mkpyk; vJ? 
A) fe;jf mkpyk;     B) i`l;Nuh FNshhpf; mkpyk; 
C) iel;upf; mkpyk;     D) Nghhpf; mkpyk; 
 

28. Which of the following quantities is scalar? 

A) Dipole movement     B) Electric force   

C) Electric field      D) Electric potential  

fPo;f;fz;l msTfSs; vJ ];Nfyhu; msthFk;. 
A) ,UKid jpUg;Gjpwd;    B) kpd;Gy tpir  
C) kpd;Gyk;      D) kpd;dOj;jk;  
 

29. An example for C4 plant is? 

A) Sugarcane  B) Potato   C) Wheat   D) Rice 

C4  jhtuq;fSf;F Xh; vLj;Jf;fhl;L? 
A) fUk;G   B) cUis   C) NfhJik   D) ney; 
 

30. Most of the energy during aerobic respiration is produced by the? 

A) Electron transport chain     B) Glycolysis 

C) Kreb‟s cycle      D) Pyruvic  acid oxidation 

fhw;Wr; Rthrj;jpy; mNef msT Mw;wy; ,jpy; cw;gj;jp nra;ag;gLfpwJ? 
A) vyf;l;uhd; flj;J rq;fpyp    B) fpisf;fhsprpy; 
C) fpug;Row;rp      D) igUtpf; mkpy Mf;]p[Ndw;wk; 
 

31. Who drafted people‟s  plan?  
A)Malthesus  B) M.N. Roy   C) J.P. Narayanan  D) S.N. Agarval  
kf;fs; jpl;lk; vd;gij tbtikj;jtu; ahu;? 
A) khy;j];  B) M.N. uha;;   C) n[a;gpufhr ehuhazd; D) S.N. mfu;thy; 

32. The main difference between GDP and GNP is  
A) Capital gains      B) Transfer payments  
C) Net foreign income from abroad   D) Capital consumption allowance 
G.D.P. –f;Fk; GNP –f;Fk; ,ilNaAs;s NtWghL vd;d? 
A) %yjdyhgk;      B) khw;W nrYj;Jjy;    
C) ntspehl;by; ,Ue;J fpilf;Fk; epfu tUkhdk; D) %y jd Efu;T fopT 
 

33. Choose the correctly matched one. 

A) Battle of Buxar - 1764     B) Battle of Plassey – 1758 

C) Vellore Revolt – 1906     D) Great Rebellion – 1885 

rupahd ,iziaf; Nju;e;njLf;fTk; 
A) gf;]hh; Nghh; - 1764     B) gpshrp Nghh; - 1758 
C) NtY}h; fyfk; - 1906    D) ngUk; Gul;rp – 1885 
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34. Who was the first known person in the world to have devised the „ship‟s camel‟, a barge on which a ship is 

built? 

A) Babar    B) Jahangir   C) Akbar    D) Humayun  

„fg;gypd; xl;lfk;‟ vdg;gLk; njhopy; El;gj;ij cyfj;jpNyNa fz;lwpe;j Kjy; egu;  
A) ghgh;   B) [fhq; P̀h;   C) mf;gh;   D) `pkha+d; 
 

35. The smallest of the living apes is? 

A) Gibban  B) Loris   C) Orangutan  D) None 

rpwpa tif thOk; thy; ,y;y Fuq;F tif? 
A) fpg;ghd;  B) Nyhhp];   C) Mud;Flhd;  D) VJkpy;iy 
 

36. The resolving power of normal eye is? 

rhjhuz kdpj fz;zpd; gFjpwd; vd;gJ. 
A) 100 M   B) 1,000 M   C) 650 M   D) 10 M 

 

37. Who Conducts Local body elections in States? 
A) The State Government     B) Election Commission of India 

C) State election Commission    D) Governor 

khepyq;fspy; cs;shl;rp Njh;jiy elj;JtJ ahu;? 
A) khepy murhq;fk;     B) ,e;jpa NjHjy; Mizak; 
C) khepy NjHjy; Mizak;    D) MSeH 
 

38. Look East Policy was initiated by? 

A) Narasimha rao  B) Narandra Modi  C) I.K. Gujaral   D) Rajiv Gandhi 

fpof;F Nehf;fpa nfhs;if ahuhy; cUthf;fg;gl;lJ? 
A) eurpk;k uht;  B) eNue;jpu Nkhb  C) I.Nf. F[uhy;  D) uh[pt; fhe;jp 
 

39. Area of Equilateral triangle _______ 

A) 
1

2
 bh       B)  𝑆 𝑆 − 𝐴  𝑆 − 𝐵 (𝑆 − 𝐶) 

C) 
 3

4
 𝑎2       D) 

1

2
 ℎ1 + ℎ2 𝑏 

 

40. 𝑎 =  −3𝑖 − 𝑗 + 5𝑘  , 𝑏  = 𝑖 − 2𝑗 + 𝑘  , 𝑐 = 4𝑗 − 5𝑘   then 𝑎 ∙  𝑏   × 𝑐   _____ 

𝑎 =  −3𝑖 − 𝑗 + 5𝑘  , 𝑏  = 𝑖 − 2𝑗 + 𝑘  , 𝑐 = 4𝑗 − 5𝑘   vdpy; 𝑎 ∙  𝑏   × 𝑐   ______ 

A) -3   B) 3    C) 6    D) -6 

 

41. Spot the error  

Kiran is / so ill to / go / to school 

  A B   C    D 

A) A   B) B    C) C    D) D 

 

42. It _____ rain tomorrow (modal verb) 

A) will   B) must   C) may   D) might 
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43. In which year National Highway Authority of India was set up? 

ve;j Mz;L ,e;jpa Njrpa neLQ;rhiy Mizak; epWtg;gl;lJ? 
A) 1993   B) 1990   C) 1995   D) 1992 

 

44. Which device is used to convert DC in to AC? 

A) Rectifier  B) Inverter   C) Amplifier   D) Transformer 

Neh;jpir kpd;Ndhl;lj;ij khWjpir kpd;Ndhl;lkhf khw;w gad;gLtJ? 
A) jpUj;jp   B) Neh;khw;wp   C) ngUf;fp   D) kpd;khw;wp 

  

45. Which type of lens is used in wide angle spy hole in doors? 

A) Convex lens  B) Concave lens  C) Convex mirror  D) None 

ntspahl;fisj; njhpe;Jnfhs;s tPl;bd; fjTfspy; Vw;gLj;jg;gLk; csTj; Jisfspy; 
nghUj;Jg;gLfpd;wd? 
A) Ftp nyd;];  B) Fop nyd;];  C) Ftp Mb   D) VJkpy;iy 

 
46. Cost effective and most popular mode of transport in our country is  

A) Roadways  B) Airways   C) Waterways   D) Railways 

ek; ehl;by; Fiwe;j nryT kw;Wk; midtuhYk; gad;gLj;jg;gLk; Nghf;Ftuj;J 
A) rhiytop  B) thd;top   C) ePHtop   D) ,uapy;top 
 

47. jtwhd xd;iwf; fhz;. 
A) tz;nlhL Gf;f kztha;j; njd;wy; - rpyg;gjpfhuk; 
B) esp kpfpd; Ke;ePu; ehtha; Xl;b - GwehD}W 
C) tsp kpfpd; typ ,y;iy - FWe;njhif 
D) ee;jkpOk; jd; nghUie ed;djpAk; - gj;kfpupehju; njd;wy; tpLJ}J 
 

48. rp.it. jhNkhjudhuhy; „jpuhtpl rh];jpup‟ vd;W Nghw;wg;gl;ltu; ehlftpay;> &ghtjp> fyhtjp vd;w 
ehlf E}y;fs; MrpupaUkhdtu;. 
A) gk;ky; rk;ge;jdhu;     B) gupjpkhw;fiyQu;  
C) rq;fujhr Rthkpfs;     D) Mu;.v];. kNdhfu;  
 

49. Which is the first state to receive rainfall from the south west monsoon in India? 

A) Andrapradesh  B) Tamil Nadu   C) Karnataka   D) Kerala  

,e;jpahtpy; njd;Nkw;F gUtf;fhw;why; kioiag; ngWk; Kjy; khepyk; vJ? 
A) Me;jpugpuNjrk; B) jkpo;ehL   C) fHehlfh   D) Nfush 
 

50. Which article of the Constitution gives the Power to President to impose President‟s Rule in a State? 

khepyj;jpy; FbauRj; jiytu; Ml;rp ve;j tpjpapd;gb eilKiwg;gLj;jg;gLfpwJ? 
A) Art.360   B) Art.226   C) Art.356   D) Art.352 

 

51. During Farazi movement, who said “Land Belongs to God”? 

A) Hazi shariatulla  B) Noah Mian   C) Dudu Mian   D) Titu Mir 

/guhrp ,af;fj;jpd;NghJ “epyk; flTSf;F nrhe;jkhdJ” vd;W $wpath; ahh;? 
A) `h[p \hpaJy;yh B) Neth kpahd;  C) LL kpahd;  D) bL kPh; 
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52. Indo-Greek style of art and sculpture is referred to as 

A) Mathura Art  B) Gandhara Art  C) Bagh Art   D) Pala Art 

,e;Njh-fpNuf;ff;fiy kw;Wk; rpw;gg; ghzp vt;thW Fwpg;gplg;gLfpwJ? 
A) kJuh fiy  B) fhe;jhuf; fiy  C) ghf; fiy  D) ghyh fiy 
 

53. In Normal person, the blood plasma will not contain? 

A) Mercury  B) Sodium   C) Calcium   D) Magnesium 

Nehaw;wyhpd; ,uj;j gpsh];khtpy; ,e;j madp fhzg;glhJ? 
A) ghjurk;  B) Nrhbak;   C) fhy;rpak;   D) nkf;dPrpak; 
 

54. The Indian Income tax is 
A) Direct and Progressive    B) Direct and proportional 
C) Indirect and progressive    D) indirect and proportional 
,e;jpah tUkhd tup vd;gJ? 
A) Neh;Kf kw;Wk; tsh;tPj tup    B) Neh;Kf kw;Wk; tpfpjhrhu tup 
C) kiwKf kw;Wk; tsh;tpj tup   D) kiwKf kw;Wk; tpfpjhrhu tup 
 

55. According to 2011 census, the density of population in India is 
A) 382 persons per sq km    B) 324 persons per sq km 

C) 267 persons per sq km    D) 117 persons per sq km 

2011 Mk; Mz;L fzf;nfLg;gpd;gb ,e;jpahtpy; kf;fs; njhif mlh;j;jp 
 A)  xU rJufpNyh kPl;lUf;F 382 egh;fs;  B) xU rJu fpNyh kPl;lUf;F 324 egh;fs; 
C) XU rJufpNyh kPl;lUf;F 267 egh;fs;  D) xU rJu fpNyh kPl;lUf;F 117 egh;fs; 

 
56. I promised the children a trip to the Zoo 

A) SVO   B) SV DO IO   C) SV IO DO A  D) SVOCA 

 

57. He holds ______ M.A degree in History. 

A) an   B) a    C) the    D) No article 

 

58. The mean of 5 numbers is 20 In this one number is removed new mean decreases 5 then 

removed number is _______ 

5 vz;fspd; ruhrup 20 mjpy; ,Ue;J xU vz;iz ePf;fpdhy; ruhrupapy; 5 Fiwe;jJ. vdpy; 
ePf;fg;gl;l vz; …………. 
A) 5   B) 20    C) 15    D) 40 

 

59.  𝑡𝑎𝑛 𝑥  𝑑𝑥 =  ______ 

A) sec 𝑥 + 𝑐  B) sec 𝑥 + tan 𝑥 + 𝑐  C) log sec 𝑥 + 𝑐  D) log  sin 𝑥 + 𝑐 

 

60. Whose model is first five year plan? 
A) Dhar   B) Mahalanobis  C) Harod Domar  D) Godgil 
Kjy; Ie;jhz;L jpl;lj;jpd; khjpup 
A) jhu;   B) k`yNdhgp];  C) `hNul;lhku;  D) fhl;fpy; 
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61. Which of the following year demonization conducted? 
A) Nov 8, 2016  B) Nov 8, 2015  C) Nov 6, 2016  D) Nov 8, 2017 
fPo;f;fz;ltw;wpy; ,e;jpahtpy; gzkjpg;gpog;G nra;j tUlk;? 
A) etk;gu; 8> 2016 B) etk;gu; 8> 2015  C) etk;gu; 6> 2016  D) etk;gu; 8> 2017 

62. nghUj;Jf. 
1) njd;dpe;jpa nkhopfs;   - (a) r. mfj;jpaypq;fk; 
2) jpuhtpl nkhopfspd; xg;gpyf;fzk;  - (b) N`hf;fd; 
3) ,e;jpah - nkhopfspd; fhl;rp rhiy - (c) fhy;Lnty; 
4) „jkpopad;‟ nkhopfs;    - (d) gpuhd;rp]; vy;yP]; 
A) 1(b) 2(c) 3(d) 4(a)     B) 1(c) 2(a) 3(d) 4(b) 

C) 1(d) 2(a) 3(b) 4(c)     D) 1(d) 2(c) 3(a) 4(b) 

 
63. jtwhdijf; fz;lwpf. 

A) jkpo;tpL J}J - 268 fz;zpfs; 
B) Kj;njhs;shapug; ghly;fspy; fpilj;jit - 108 
C) ehr;rpahu; jpUnkhop ghly;fs; - 143 
D) ,uhtd fhtpa fhz;lq;fs;> glyq;fs; KiwNa - 5>3300 
 

64. What is called the changing agent of the society? 
A) Land    B) Labour   C) Capital    D) Entrepreneur 
gpd;tUtdtw;wpy; vJ r%fj;ij khw;Wk; Kftu; vd;W miof;fg;gLfpwJ? 
A) epyk;       B) njhopyhsu;fs; 
C) %yjdk;      D) njhopy; KidNthu; 
 

65. Merchant capital year? 

tzpf %yjdk; ? 
A) 1813 - 1947  B) 1947 – 2000  C) 1757 - 1813  D) 19th Century 

 

66. Which is employed as a styptic agent to arrest bleeding? 

A) Potash alum  B) Ammonium Hydroxide C) Mohr salt   D) Borax. 

FWjp jLg;ghdhf nray;gLtJ vJ? 

A) nghl;lh~; gbfhuk;     B) mk;Nkhdpak; i`l;uhf;irL+ 

C) Nkhh; cg;G      D) Nghuhf;]; 
 

67. In which of the following gas used by deep see divers? 

A) He – O2 Mixture  B) Ne – O2 Mixture  C) Ar – O2 Mixture  D) Kr – O2 Mixture 

Mo;fly; ePe;Jgth;fs; gad;gLj;Jk; thA vJ? 
A) He – O2 fyit B) Ne – O2 fyit  C) Ar – O2 fyit  D) Kr – O2 fyit 
 

68. The Growth of pollen tubes down the style is due to? 
A) Hydrotropism      B) Traumatotropism   
C) Thymotropism     D) Chemotropism  
kfue;j Foha; tsh;r;rpaile;J #o; jz;bid Nehf;fp tsh;tJ? 
A) ePh;ehl;lk;      B) csnwjpUzh;T ,af;fk;  
C) gw;W ehl;lk;      D) Ntjp ehl;lk; 
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69. The Head quarters of the south central railway is at 

A) Bangalore  B) Secunderabad  C) Hubli   D) Hyderabad   

njd;kj;jpa uapy;Ntapd; jiyikaplk; mike;Js;s ,lk;? 
A) ngq;fSH  B) rpf;fe;jpuhghj;  C) `_g;sp   D) i`juhghj; 
  

70. Which hormone causes emotional disturbances? 

A) Thyoxine  B) Oxytocin   C) vasopressin   D) Adrenalin  

ve;j `hh;Nkhdhy; czh;r;rp tag;gl;l njhe;juTfs; Vw;gLj;JfpwJ? 
A) ijuhf;rpd;  B) Mf;]pNlhrpd;  C) thNrhgpurpd;  D) ml;hpdypd; 
  

71. Which district has the lowest child sex ratio (As per 2011 census)  

A) Madurai   B) Dharmapuri   C) Theni   D) Ariyalur 

2011 kf;fs; njhif fzf;nfLg;gpd;gb ve;j khtl;lj;jpy; Foe;ij ghypd tpfpjhr;rhuk; Fiwthf 
cs;sJ? 
A) kJiu   B) jHkGup   C) Njdp   D) mupaY}H 
 

72. cot−1(−𝑥) is _____ 

cot−1(−𝑥) vd;gJ _____ 

A) 
𝜋

2
+ cot−1 𝑥   B) 𝜋 − cot−1 𝑥  C) 

−𝜋

2
+ cot−1 𝑥   D) 𝜋 + cot−1 𝑥 

 

73. The rank matrix of A=  
−2 2 −1
0 5 1
0 0 0

  

A=  
−2 2 −1
0 5 1
0 0 0

  vd;w mzpapd; juk; _____ 

A) 3   B) 2    C) 1    D) None  

 

74. Nuclear Fission reaction was discovered by? 

A) Klaproth   B) Teller   C) Curie   D) Otto Hahn  

mZf;fU gpsT tpidiaf; fz;lwpe;jth;? 
A) fpshgh;j;  B) nly;yh;   C) fpA+hp   D) Ml;Nlh`hd; 

  

75. In Direct Speech “thus” is changed as 

A) those   B) so    C) us    D) that 

 

76. Which article of Constitution give the provision of President in India? 

,e;jpa FbauRj; jiytu; gw;wp $Wk; murpayikg;G tpjp vd;d? 
A) Art.52   B) Art.63   C) Art.53   D) Art.72 

 

77. The Electrical Resistivity of Nichrome is? 

epf;Nuhk; cNyhff;fyitapd; kpd;jilapd; kjpg;G? 
A) 5×10-6 Ωm  B) 6×10-6 Ωm  C) 1.5×10-5 Ωm  D) 1.5×10-6 Ωm 
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78. Which one of the following hormone is involved in abscission of organs and acceleration of fruit 

ripening? 

A) Auxin   B) Cytokinine   C) Gibberellins  D) Ethylene  

ve;j `hh;Nkhd; jhtu cWg;Gfspd; cjph;jy; kw;Wk; fdp gOg;gij Jhpjg;gLj;JfpwJ? 
A) Mf;]pd;  B) irl;Nlhifdpd;  C) [pg;uy;ypd;   D) vj;jpyPd; 
 

79. The method of permanent birth control in male is? 

A) Tubectomy  B) Vasectomy  C) Thyrotectomy  D) Hyserectomy  

Mz;fSf;fhd Xh; epiyahd fUj;jil KiwahFk;? 
A) ba+gf;lkp  B) thrf;flkp   C) ijNuhf;lkp  D) i`rh;f;lkp 
   

80. The art fount at Ellora and Elephanta are the contributions of 

A) Rashtra kutar  B) Guptas   C) Pallavar   D) Palar 

vy;NyhNuh kw;Wk; vyp/gz;lhtpy; fhzg;gLk; fiy El;gk; ahUila gq;fspg;G? 
A) uh\;bu  $lh;fs; B) Fg;jh;fs;   C) gy;ytu;fs;  D) ghyu;fs; 
 
 
 

 Select the Related Number / word / letter? 

rupahd ,iziaf; fhz;f. 
81. CD : 34 : : AB : ? 

A) 25   B) 68    C) 12    D) 21 

 

82. 8 : 9 : : 64 : ? 

A) 36   B) 25    C) 24    D) 27 

 

 Find the odd one  / jtwhd xd;iw Nju;f? 
83. A) MIZORAM   B) SIKKIM   C) KOHIMA   D) MANIPUR  

A) kpNrhuk;  B) rpf;fk;   C) Nfh`pkh   D) kzpg;G+h; 
 

84. A) 221   B) 238    C) 187   D) 361 

 

85. If E is coded as 5, then TEA is coded 26, then TEACHER is coded as? 

E  vd;gij 5 vd;Wk;> TEA  vd;gij 26, vd;W vOjpdhy;> TEACHER  vd;gij vt;thW vOJtu;? 
A) 75   B) 59    C) 60    D) 57 

 

86. If MAARK is coded as KRAAM, then PASSI is coded as? 

MAARK  vd;gij KRAAM, vd;W vOjpdhy;> PASSI vd;gij vt;thW vOJtu;? 
A) ISSPA   B) SSIPA   C) ISSAP   D) SSPIA 

 

87. If BASKET is coded as TEKSAB, the PILLOW is coded as? 

BASKET  vd;gij TEKSAB, vd;W vOjpdhy;> PILLOW vd;gij vt;thW vOJtu;? 
A) LOWPIL  B) WOLLIP   C) LOWLIP   D) WOLPIL 

 

PART ‘B’ : Psychology 
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 Find the missing Number in series? 

tpLgl;l vz;iz fhz;f? 
88.  400, 20, 484, ? 

A) 20   B) 21    C) 23    D) 22 

 

89. 18, 25, 34, 45, ? 

A) 60   B) 58    C) 59    D) 65 

 

90. 7, 49, 343, ? 

A) 3087   B) 1029   C) 2401   D) 1091 

 

91. 463, 452, 439, 424, ? 

A) 407   B) 413    C) 419   D) 411 

 

 Find the missing letter in series 

tpLgl;l vOj;ijf; fhz;f. 
 

92. r _ stur _ s _ urr _ turrs _ u 

A) rstuu   B) rrsts   C) rrtst   D) ssttu 

 

93. QYK, ?, ISG, EPE 

A) NWJ   B) MVI   C) NVI   D) MVJ 

 

94. In the given numbers “9876543210” first is changed with second, third is changed with fourth and 

so on, then which number is sixth from right? 

“9876543210” vd;w vz; njhFg;gpy;> Kjy; kw;Wk; ,uz;lhk; vz;fSk;> %d;whk; kw;Wk; ehd;fhk; 
vz;fSk; mJNghyNt njhlu;e;J kw;Wk; vz;fSk; ,lk;ngau;fpwJ vdpy;> tyJGwkpUe;J MwhtJ 
vz; vd;d? 
A) 5   B) 7    C) 4    D) 3 

 

95. If January 01.2000 is Monday means march 02 on same year will be? 

A) Saturday  B) Sunday   C) Friday   D) Thursday 

[dtup 01.2000 jpq;fs; vdpy;> mNj tUlk; khu;r; 02 vd;d fpoik? 
A) rdpf;fpoik  B) QhapW   C) nts;sp   D) tpahod; 
 

96. 8 ∗ 5 ∗ 27 ∗ 3 ∗ 16 

A) ×, =, +, −  B) −, =,×, +   C) ×, =, −, +   D) +, −, =,× 

 

97. 21 (49) 14, 159 (169) 146, 56 (?) 44 ? 

A) 144   B) 121    C) 225   D) 256 
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98. In a row of 16 boys, when Prakash was shifted by two places towards the left, he became 7th from 

the left end. What was his earlier position from the right end of the row? 

16 Ngu; nfhz;l xU tupirapy; gpufh\; ,lJGwk; Nehf;fp ,uz;L ,lq;fs; efu;e;jhy; ,lg;Gwk; 
,Ue;J 7-tjhf tUfpwhd; vdpy; tyg;GwkpUe;J mtDila Ke;ija ,lk; vd;d? 
A) 7th   B) 8th    C) 9th    D) 10th  

 
99. In a row of boys, if A who is 10th from the left and B who is 9th from the right interchange their 

positions, A becomes 15th from left. How many boys are there in the row? 

xU tupirapy; A vd;gtu; ,lJGwkpUe;J 10-tjhfTk; B vd;gtu; tyJ GwkpUe;J 9-tjhfTk; 
,Uf;fpwhu;fs;. ,tu;fs; ,UtUk; jq;fs; ,lq;fis khw;wp nfhz;lhy;> A ,lkpUe;J 15-tjhf 
tUfpwhu; vdpy; tupirapy; vj;jid Ngu;? 
A) 23   B) 27    C) 28    D) 31 

 

 Study the diagram given below and answer each of the following questions. 

 
 

100. How many persons are there who take both tea and coffee but not wine ? 

,jpy; vj;jid Ngu; B kw;Wk; fhgp kl;Lk; mUe;Jfpd;wdu; itd; ,y;yhky;? 
A) 22   B) 17    C) 7    D) 20 

 

 Study the following figure and answer the questions given below. 

 
101. How many doctors are neither artists nor players ? 

vj;jid kUj;Jtu;fs; kl;LNk cs;sdu;? 
A) 17   B) 5    C) 10    D) 30 

 

 Which one will replace the question mark ? 

Nfs;tp FwpaPl;l ,lj;jpy; tuNtz;baJ vd;d? 
102.  

 
A) 7   B) -9    C) 12    D) -12 
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103. 10000, 11000, 9900, 10890, 9801, ? 

A) 10361   B) 10525   C) 10781   D) 10871 

 

104. Hemant in order to go to university started from his house in the east and came to a crossing. The road to 
the left ends in a theatre, straight ahead is the hospital. In which direction is the university? 
A) North   B) South   C) East   D) West 
N`ke;j; vd;gtd; tPl;bypUe;J gy;fiyf;fofk; nry;y epidf;fpwhd;. fpof;fpy; ,Uf;Fk; mtd; 
tPl;bypUe;J fpsk;gp rhiy re;jpg;gpy te;J epw;fpwhd;. mtd; ,lJ ifGw rhiy Kbtpy; 
jpiuauq;fKk;> vjpupy; kUj;JtkidAk; ,Ue;jhy; gy;fiyf;fofk; ve;j jpirapy; ,Uf;Fk;? 
A) tlf;F   B) njw;F   C) fpof;F   D) Nkw;F 
 

105. Evaluate / kjpg;G fhz;f:  256 0.16 × (16)0.18 =  ? 

A) 4   B) 16    C) 64    D) 256.25 

 

106. 1 + 
1

2
+

1

4
+

1

7
+

1

14
+

1

28
 = ? 

A) 4   B) 3    C) 2    D) 1 

 

107. In a family of 5 members, X is the sister of Y. M has 2 children and he is the son of E, who is the 

father-in-law of H.  H has only one son. Y is not the grand-daughter of E. How is X related to E? 

A) Sister   B) Daughter   C) Grand-daughter  D) Grandson 

5 Ngu; nfhz;l FLk;gj;jpy;> X vd;gtu; Y-d; rNfhjup. M–w;F ,uz;L Foe;ijfs; NkYk; mtu; E-d; 
kfd; Mthu;. E-vd;gtu; H-d; khkdhu; Mthu;. H-w;F XNu xU kfd; jhd;. Y vd;gtu; E-d; Ngj;jp 
my;y vdpy;> X vd;gtu; E-w;F vd;d cwT? 
A) rNfhjup  B) kfs;   C) Ngj;jp   D) Ngud; 
 

108. Count the number of parallelogram in the given figure. 
nfhLf;fg;gl;l glj;jpy; vj;jid ,izfuq;fs; cs;sd? 

 
A) 20   B) 18    C) 16    D) 12 
 

109. In the adjoining figure, if the centres of all the circles are joined by horizontal and vertical lines, then find 
the number of squares that can be formed. 
nfhLf;fg;gl;l glj;jpy; cs;s tl;lq;fspy; nrq;Fj;jhfTk;> fpilkl;lkhfTk; NfhLfis tiue;jhy; 
vj;jid rJuq;fs; cUthFk;? 

 
A) 6   B) 7    C) 8    D) 1 
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110. There are 19 hockey players in a club. On a particular day, 14 were wearing the hockey shirts 

prescribed. None of them were without either hockey pants or shirts. Eleven were wearing the 

prescribed hockey pants. How many were in complete uniform? 

xU fpsg;gpy; 19 `hf;fp tPuu;fs; ,Ue;jdu;. xU Fwpg;gpl;l ehspy;> 14 Ngu; `hf;fp rl;il 
mzpe;Js;sdu;. vy;NyhUk; rl;ilNah my;yJ fhw;rl;ilNah mzpe;Js;sdu;. 11 Ngu; `hf;fp 
fhw;rl;il mzpe;Js;sdu; vdpy; vj;jid Ngu; `hf;fp cilia KOikahf mzpe;Js;sdu;? 
A) 9   B) 6    C) 7    D) 8 

 

111. There are some flowers in a basket and at every next minute they get double. At the 30th minute 

the basket becomes full. Then at exactly which minute the basket is half filled? 

A) 15 minutes  B) 20 minutes  C) 29 minutes  D) 12 minutes  

$ilapy; rpwpjsT g+f;fs; ,Ue;jd xt;nthU epkplj;jpw;Fk; mJ ,ul;bg;ghfp nfhz;Nl ,Uf;Fk;. 
30tJ epkplj;jpy; $il KOtJk; g+f;fs; epuk;gptpl;lhy;> $il ve;j epkplj;jpy; miuthrp 
epuk;gpapUf;Fk;? 

A) 15 epkplk;  B) 20 epkplk;   C) 29 epkplk;   D) 12 epkplk; 

112. If a number is greater than 5 but less than 9 and greater than 7 but less than 11, the number is?. 

Xu; vz; 5-I tpl ngupaJk; kw;Wk; 9-I tpl rpwpaJk; NkYk;> 7-I tpl ngupaJk; kw;Wk; 11-I tpl 
rpwpaJk; vdpy; me;j vz; vd;d? 
A) 5   B) 6    C) 7    D) 8 

 

113. Individuals with a strong desire to achieve a challenging goal have a strong need for 

A) Power   B) Affiliation   C) Achievement  D) Recognition 

xU jdpatDf;F fLikahd nyf;if mila[k; Bjit typik bgw;wpUe;jhy; mjid 

Fwpg;gpLk; brhy;. 

A) mjpfhuk;      B) rhu;e;J kw;Wk; nize;J bfhs;Sjy; 

C) rhjpf;Fk; jpwd;     D) mA;fPfhuk; 

 

114. Hypnosis can be described as 

A) Deep sleep      B) Altered state of consciousness 

C) Living in another world    D) Going back to childhood. 

fPH; fz;ltw;wpy; vjid “mwpJapy; epiy” vd;W TWBthk;. 

A) MH;e;j Jhf;f epiy    B) Kw;wpYk; JyA;fhj kaf;f epiy 

C) BtbwhU cyfj;ij miltJ   D) FHe;ij gUtj;ij miltJ 
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 DIRECTIONS (Q. Nos. 115-119)  

Study the following graph carefully to answer the questions that follow. 

Number of Boys and Girls Studying in five Different Colleges 

 
 

115. What is the respective ratio of girls to boys in college T? 

T-vd;w fy;Y}upapy; gbf;Fk; khztp kw;Wk; khztu;fSf;fhd tpfpjk; fhz;f? 
A) 2:3   B) 3:8    C) 4 :7    D) 2:5 

 

116. The number of boys in college S is approximately what per cent of the number of boys in college Q? 

S-fy;Y}upapy; gbf;Fk; khztu;fs; Q fy;Y}upapy; gbf;Fk; khztu;fspy; vj;jid rjtPjk;? 
A) 75   B) 116    C) 129    D) 88 

 

117. The number of girls of college R is what per cent of the total number of students of all the colleges 

together? 

R-fy;Y}upapy; gbf;Fk; khztpfs; midj;J fy;Y}upfspYk; gbf;Fk; nkhj;j khztu;fspy; vj;jid rjtPjk;? 
A) 8.26    B) 5.18    C) 4.91    D) 7.32 

 

118. What is the average number of boys from all the colleges together? 

midj;J fy;Y}upfspYk; gbf;Fk; khztu;fspd; ruhrup fhz;f? 
A) 4000    B) 2000   C) 1800    D) 1750 

 

119. What is the respective ration between the girls studied in P & Q? 

P kw;Wk; Q fy;Y}upfspy; gbf;Fk; khztpfspd; tpfpjk; fhz;f? 
A) 4 : 5   B) 5: 4    C) 3 : 6   D) 6 : 3 
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120. Below are given marks of two candidates P and Q in four papers each. Study these marks and 

then answer the question. 

Candidate P Paper I Paper II Paper III Paper IV 

Maximum Marks 75 100 80 70 

Marks Obtained 45 65 50 35 

 

Candidate Q Paper V Paper VI Paper VII Paper VIII 

Maximum Marks 80 75 100 70 

Marks Obtained 56 44 40 42 

Considering the performance of P and Q together, who has put up the best performance in which 

paper? 

A) P in paper II  B) Q in paper V  C)  P in paper I  D) Q in  paper VI 

P kw;Wk; Q vDk; ,U khzth;fs;> ehd;F ghlq;fspy; ngw;w kjpg;ngz;fs; fPNo mspf;fg;gl;Ls;sd. 

khzth; P jhs; I jhs; II jhs; III jhs; IV 
mjpfgl;r kjpg;ngz; 75 100 80 70 
ngw;w kjpg;ngz; 45 65 50 35 

 

khzth; Q jhs; V jhs; VI jhs; VII jhs; VIII 
mjpfgl;r kjpg;ngz; 80 75 100 70 
ngw;w kjpg;ngz; 56 44 40 42 

P kw;Wk; Q ,Uthpd; kjpg;ngz;fis xg;gpl;L> ahh; ve;jg; ghlj;jpy; kpfr; rpwg;ghfj; Njh;r;rp 
ngw;Ws;shh; vdf; $Wf? 
A)  P vd;gth; jhs; II ,y;   B) Q vd;gth; jhs; V ,y; 
C) P vd;gth; jhs; I ,y;   D) Q vd;gth; jhs; VI ,y; 
 

121. Read the information and given answer. 

There are 5 persons P,Q,R,S and T. One is a football player. One is a chess player. One is a 

hockey player. P and S are unmarried ladies and do not participate in any game. None of the 

ladies play chess or football. There is a married couple, in which T is the husband. Q is the brother 

of R and is neither a chess player nor a hockey player. 

Who is the hockey player? 

A) P   B) Q    C) R    D) S 

jftiy ed;F gbj;J> gjpy; juTk;. 
P,Q,R,S kw;Wk; T Mfpa 5 egu;fs;. xUth; fhy;ge;J tPuu;. xUth; rJuq;f tPuu;. xUth; `hf;fp tPuu;. 
P kw;Wk; S MfpNahh; jpUkzkhfhj kfsph;. mth;fs; ve;j tpisahl;bYk; fye;J 
nfhs;shjth;fs;. ve;jnthU kfspUk; rJuq;fNkh> fhy;ge;Njh tpisahltpy;iy. jpUkzkhd xU 
N[hbapy; T vd;gth; fzth; Mthh;. R kw;Wk; Q rNfhjuh;fshty;. Q rJuq;f tPuNuh my;yJ 
`hf;fp tPuNuh fpilahJ. 
,th;fspy; `hf;fp tPuu; ahh;? 
A) P   B) Q    C) R    D) S 
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122. Read the  information and answer the question. 

Five books A,B,C,D and  E have to be proof read in 6 hours; one hour needs to be spent for one 

book. A break of one hour is to be taken in the 3rd or 4th hours. The proofreading cannot start with 

A and has to end in C. D has to immediately follow B with no break in between. A cannot be done 

immediately after D. A has to immediately precede E with no break between. 

Which book is to proof-read immediately after the break? 

jftiy ed;F gbj;J> gjpy; juTk;. 
A,B,C,D kw;Wk; E Mfpa 5 Gj;jfq;fis 6 kzp Neuj;jpy; gpio jpUj;jk; nra;a Ntz;Lk;. (xU 
Gj;jfj;jpw;F xU kzp Neuk; nrytpl Ntz;Lk;). 3 my;yJ 4 tJ kzp Neuj;jpy;> xU kzp Neuk; 
,ilNtis Xa;T vLj;Jf; nfhs;syhk;. A vDk; Gj;jfj;jpy; njhlq;fhky;> gpio jpUj;jk; C 
vDk; Gj;jfj;jpy; Kba Ntz;Lk;. ,ilNtiyapy;yhky; D vDk; Gj;jfk; B Gj;jfj;jpd; gpio 
jpUj;jj;jpw;Fg; gpd; njhlq;f Ntz;Lk;. D vDk; Gj;jfg; gpio jpUj;jj;jpw;Fg; gpd; clNd A vDk; 
Gj;jfg; gpio jpUj;jk; njhlq;ff; $lhJ. ,ilNtisapy;yhky; A vDk; Gj;jfg; gpio jpUj;jk; E 
vDk; Gj;jfj;jpw;F gpd; njhlq;fg;gl Ntz;Lk;. 
,ilNtis Kbe;jTld; gpio jpUj;jk; nra;a Ntz;ba Gj;jfk; vJ? 
A) E   B) D    C) B    D) A 

 

123. Read the information and answer the question. 

In a school, there are 5 teachers. A and B were teaching Hindi and English. C and B were 

teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were 

teaching History and French. 

Who among the teachers are teaching maximum number of subjects?  

jftiy ed;F gbj;J> gjpy; juTk;. 
xU gs;spapy; 5 Mrphpah;fs; cs;sdh;. A kw;Wk; B `pe;jpAk;> Mq;fpyKk; fw;Wj; jUfpd;wdh;. C 
kw;Wk; B Mq;fpyKk;> GtpapaYk; fw;Wj; jUfpd;wdh;. D kw;Wk; A fzpjKk;> `pe;jpAk; fw;Wj; 
jUfpd;wdh;. E kw;Wk; B tuyhWk;> gpnuQ;Rk; fw;Wj; jUfpd;wdh;. 
ahh; mjpf vz;zpf;ifapyhd ghlq;fisf; fw;Wj; jUfpd;wdh;? 
A) A   B) B    C) C    D) D 

 

124. There were a total of 10 bicycles and tricycles. If the total number of wheels was 24, how many tricycles 

were there? 

xU ,lj;jpy; nkhj;jk; 10 ,Urf;fu kw;Wk; %d;W rf;fu thfdq;fs; cs;sJ> tz;bfspy; cs;s 
nkhj;j rf;fuq;fspd; vz;zpf;if 24 vdpy;> vj;jid %d;W rf;fu thfdq;fs; cs;sd? 
A) 2   B) 6    C) 18    D) 4 

 

125. P is greater than Q by 60% and greater than R by 30%. The ratio of Q and R is  

P vd;gtupd; Q-it tpl 60% kw;Wk; R-I tpl 30% mjpf gzk; cs;sJ vdpy;> Q kw;Wk; R-d; 
tpfpjq;fs; KiwNa.   
A) 1 : 2   B) 2 : 1   C) 13 : 16   D) 16 : 13 

 

126. What is the average of the first ten 3 digit even number? 

Kjy; gj;J 3- nyf;f nul;ilgil vz;fspd; ruhrup vd;d? 

A) 104   B) 110    C) 109    D) 111 
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127. In an election, A candidate got 40% votes and lost by 1500 votes. Find the total votes casted? 

nUtu; kl;LBk Bghl;oapl;l xU Bju;jypy; xUtu; 40% bkhj;j xl;Lfs; thA;fp 1500 

Xl;Lfs; tpj;jpahrj;jpy; Bjhw;Wg;Bghdhu; vdpy; me;j Bju;jypy; gjpthd bkhj;j 

Xl;Lfs; vj;jid? 

A) 7500   B) 6500   C) 600    D) 900 

 

128. In a library 20% books are English 50% of the remaining books are tamil other language books are 800 in 

total. find the number of Tamil books. 

xU Ehyfj;jpy; 20% g[j;jfA;fs; MA;fpyk; rhu;e;jit. kPjKs;sitfspy; 50% 

g[j;jfA;fs; jkpH; rhu;e;jit kw;w bkhHp g[j;jfA;fs; 800 cs;sd. vdBt vj;jid jkpH; 

bkhHp g[j;jfA;fs; Ehyfj;jpy; cs;sd? 

A) 1000   B) 500    C) 300    D) 800 

 

129. The ratio between the sale price and the cost price of an article is 7:5 What is the ratio between the profit 

and the cost price of that article. 

xU bghUspd; tpw;gid tpiyf;Fk; mlf;f tpiyf;Fk; cs;s tpfpjk; 7:5 vdpy; yhgk; kw;Wk; mlf;f 

tpiyf;F nilBa cs;s tpfpjk;. 

A) 2:7   B) 5:2    C) 3:4    D) None of these 

 

130. x:y = 3:4, (4x+5y) : (5x – 2y) = ? 

A) 32:7   B) 7:23   C) 32:23   D) 11 : 13 

 

131. The ratio of three numbers is 3:4:5 and the sum of their squares is 1250, the Sum of the numbers is 

K}d;W vz;fspd; tpfpjk; 3:4:5 mitfspd; tu;f;fA;fspd; Tl;Lj;bjhif 1250 vdpy;, 

me;j vz;fspd; Tl;Lbjhif fhz;f. 

A) 30   B) 60    C) 90    D) 150 

 

132. The ratio of present ages of Geeta & Deepa is 3:4 respectively. Two years hence this ratio would 

become.10:13 respectively. How old is Geeta. 

fPjh & jPghtpd; jw;Bghija taJfspd; tpfpjk; 3:4 nuz;L tUlk; gpd;g[ mth;fspd; 

taJ tpfpjk; 10:13 vdpy; fPjhtpd; taJ vd;d? 

A)26   B)20    C)24    D)18 

 

133. A father is 30 years older than his son, 5 years later he will be only thrice as old as his son. Father’s present 

Age in years is 

mg;ghtpd; tajhdJ kfdpd; taijtpl 30 mjpfk; 5 tUlA;fs; gpd;g[ kfdpd; 

taijtpl 3 klA;F je;ijapd; taJ MFk; vdpy; je;ijapd; jw;Bghija taJ 

A)25   B)30    C)40    D)45 
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134. A and B can do a work in 12 days. B & C in 15 days, C & A in 20 days. If A,B &C together, they will 

complete the work in. 

A and B nize;J xU Btiyia 12 ehl;fspy; Kof;fpd;wdu;. mBj Btiyia B kw;Wk; 

C, 15 ehl;fspYk;, C kw;Wk; A 20 ehl;fspYk; Kof;fpd;wdu; vdpy; K}tUk; mt;Btiyia  

nize;J bra;jhy; vj;jid ehs;fspy; Kog;gu;? 

A) 5   B) 7 
5

6
    C) 10    D) 15 

2

3
 

 

135. A & B can do a work in 8 days , B & C can do the same work in 12 days. A,B & C together can finish it in 

6 days. A & C together will do it in. 

A kw;Wk; B xU Btiyia 8 ehl;fspy; Kof;fpd;wdu; B kw;Wk; C kw;Wk; A, B&C KiwBa 

12 kw;Wk; 6 ehl;fspy; Kof;fpwhu; vdpy; A kw;Wk; C kl;Lk; mt;Btiyia Kof;f 

vj;jid ehl;fshFk;? 

A) 4   B) 6    C) 8    D) 12 

 

 Directions (Q. Nos. 136-140) 

Study the following information carefully and answer the questions accordingly. 

Eleven people are sitting in a straight-line facing north. D is sitting fourth from one of the ends. 

Three people are sitting between D and F. Five people are sitting between F and C. Two people 

are sitting between C and P. A is sitting fourth to the right of P. Seven people are sitting between 

A and R. Two people are sitting between R and E. G is sitting third to the left of H. M is sitting to 

the right of N.  

fPo;f;fz;l jfty;fisg; gbj;J tpdhf;fSf;Nfw;w tpilaspf;fTk;. 
xU Neu;tupirapy; tlf;F Nehf;fp 11 Ngu; mku;e;jpUe;jdu;. D vd;gtu; VNjh Xu; ,Wjpapy; ,Ue;J 
ehd;fhtjhf cs;shu;. D kw;Wk; F-d; ,ilNa 3 Ngu; cs;sdu;. F kw;Wk; C-d; ,ilNa 5 Ngu; 
cs;sdu;. C kw;Wk;  P-d; ,ilNa 2 Ngu; cs;sdu;. A vd;gtu; Pd; tyg;Gwk; ehd;fhtjhf 
cs;shu;. A kw;Wk; R-d; ,ilNa 7 Ngu; cs;sdu;. R kw;Wk; E-d; ,ilNa 2 Ngu; cs;sdu;. G 
vd;gtu; H-d; ,lg;Gwk; %d;whtjhf cs;shu;. M vd;gtu; N-d; tyg;Gwj;jpy; jhd; cs;shu;. 
 

136. Who is sitting third to the right of N? 

N-d; tyg;Gwk; %d;whtjhf ahu;> 
A) C   B) P    C) E    D) F 

 

137. How many of them are sitting to the right of P? 

P-d; tyg;Gwk; vj;jid Ngu; cs;sdu;? 
A) 4   B) 6    C) 5    D) 3 

 

138. Who among the following are the immediate neighbours of F? 

F-d; mUNf ,Ug;gtu;fs; ahu;? 
A) E, H   B) P, G   C) A, P   D) R, H 
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139. Who sits on the left end of row? 

,lJGw Nfhbapy; cs;stu; ahu;? 
A) N   B) F    C) A    D) D 

 

140. Who sits on the Right end of row? 

tyJGw Nfhbapy; cs;stu; ahu;? 
A) N   B) F    C) A    D) D 
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TNUSRB – SI 2022 

FULL TEST - 04 

ANSWER KEY: 

1.  B 11.  C 21.  C 31.  B 41.  B 51.  C 61.  A 

2.  A 12.  B 22.  D 32.  C 42.  C 52.  B 62.  D 

3.  D 13.  C 23.  D 33.  A 43.  C 53.  A 63.  D 

4.  B 14.  B 24.  C 34.  C 44.  B 54.  A 64.  D 

5.  A 15.  A 25.  C 35.  B 45.  B 55.  A 65.  C 

6.  C 16.  D 26.  A 36.  A 46.  A 56.  C 66.  A 

7.  B 17.  C 27.  A 37.  C 47.  C 57.  A 67.  A 

8.  D 18.  D 28.  D 38.  A 48.  B 58.  D 68.  D 

9.  A 19.  A 29.  A 39.  C 49.  D 59.  C 69.  B 

10.  D 20.  B 30.  A 40.  A 50.  C 60.  C 70.  D 
 

71.  D 81.  C 91.  A 101.  A 111.  C 121.  C 131.  B 

72.  B 82.  B 92.  C 102.  D 112.  D 122.  D 132.  D 

73.  B 83.  C 93.  B 103.  C 113.  B 123.  B 133.  C 

74.  D 84.  D 94.  C 104.  A 114.  B 124.  D 134.  A 

75.  B 85.  C 95.  A 105.  A 115.  B 125.  C 135.  C 

76.  A 86.  C 96.  C 106.  C 116.  C 126.  C 136.  D 

77.  D 87.  B 97.  A 107.  C 117.  A 127.  A 137.  A 

78.  D 88.  D 98.  B 108.  B 118.  A 128.  D 138.  D 

79.  B 89.  B 99.  A 109.  C 119.  B 129.  D 139.  A 

80.  A 90.  C 100.  C 110.  B 120.  B 130.  A 140.  C 
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